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TOTAL AREA § AREA BETWEEN CURVES
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THUS FAR ,

WE'VE  ONLY LOOKED AT
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 a METHOD 10 FIND  the  AREA OF THE '| CONCRETE EXAMPLES OF /abfCx)dX  WHERE

$ REGION BOUNDED BY TWO CURVES f( X ) 15 POSITIVE
,

IE  ABOVE  THE  X - AXIS .
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WHAT if fcx ) is  Not ABOVE THE  X ' AX 's ?
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( YOU SHOULD CHECK your ANSWERS  WITH YOUR*nCALCULATOR )
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THE FOLLOWING GRAPH MODELS

#
ALICIA 's VELOCITY AS  SHE  WANDERS FROM HER OFFICE ( so At  XTO

,
SHE'S  IN  HER OFFICE )

AROUND LECONTE .

=  VELOCITY

•
AFTER 15 MINUTES

,
HOW FAR AWAY 15 SHE

INFHMINUTE f(×)

From  HER OFFICE ?
- . . - . . - - ... .

↳
 = fo

"

x3 -21×2+9811 DX
1 i

=  TIME  IN

7
14 MINUTES

f(×)= X3- 21×2+98/2

• WHAT 19 THE  

TOTAITAN.EE
TRAVELED BY

AHCLA ?
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X3 -21×2+98 Xdx + |fyHx3 . 21×2+98 xdxf + Styx's -21×2+9 Xdx



PGZ

EX .
DETERMINE THE AREA OF  THE  REGION ENCLOSED By Y=X2 AND y=dI

¥
×

THE  REGION  WE WANT TO FIND THE AREA OF
.

✓
 THIS  Is

FIRST OF ALL : WE  NEED LIMITS  OF INTEGRAPON . IN THIS

CASE
,

THE REGION IS  COMPLETELY ENCLOSED BY FX AND

X2
,

SO OUR LIMITS OF INTEGRATION  SHOULD BE WHERE

XZHI
.

[ SET  EQUAL , SOWE  FOR X

x2=  Fx  ⇒ ×4 =  ×  ⇒  it . ×=o  ⇒  ×(x3-D=o  ⇒  xro  ej XA .

SO  OUR LIMITS  OF  INTEGRAPON ARE FROM XD TO Xil .

NOW : WHAT ARE  WE INTEGRATING ? NOTICE THE FOLLOWING :

(
lihdx

+ µloX2dX
× keljllxdxfolxdx

IN GENERAL
. .

 IF YOURE FINDING  THE  AREA BETWEEN  TWO CURVES FROM XFA to Xtb

WE HAVE : -

%
AREA µReay,oµ

= fab TOP CURVE - BOTOMCURVE  dx%↳,%m#=wwm#mmmmm¥%

So . . THE AREA  Of  THE REGION ABOVE Is THE FOLLOWING :

tie . na . ¥2 . It it's.tt - tenet

=÷⇒aiI÷i.


